DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12JPCM09 | JEE PRACTICE QUESTIONS | €2 XH
(2023-24) (TEST-9) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. The nuclear radius of a nucleus with nucleon
number 16 is 3 x 10°m. Then the nuclear
radius of a nucleus with nucleon number 128
is

A)3x10%m
B)6x 105 m
C)1.5x 105 m

D)4.5x 105 m

16 BlwseflmeTs:eT  Q&MeooT. 63
Seossmalledr 9T 3x 10°m  eTeoflev
128  mlwseflumerg:er  Q&meooTL. 6(H
2600188 ([H 6N 60T 2T LD

A)3x 1075 m
B)6x 1075 m
C) 1.5x 10" m

D)4.5x 10" m

2. In the nuclear fusion reaction

H*+ H’— He*'+n

Given that the repulsive potential energy
between the two nuclei is = 7.7 x 104]. The
temperature at which the gases must be heated
to initiate the reaction is nearly (Boltzmann’s
constant K 1.38 x 102 J/K)

A)3.7x 10'K B) 3.7 x 10°K
C)3.7x 10°K D) 3.7 x 10°K
9| 60015 85(TH @) 6060076 allemeotUll6v

H*+ H’— He*+n

@ evoT(h 2 L &H([HHHEHEHEG Q6L Gl 2 66T

alevdsE  Bleoewwmmmey  GHTIMUILDTS
7.7x 10714) 6Te0T  Q&HETHH&HLILL(HETETSI.
alem 6oTem WL 2 TLNGS LGS L
6TH& QeILILBleMeVE S QUMW & & 6T
QeaulILLIURSSLILIL L Geuevor(hLD

(GLimevL_6ruGLoeoT Lommled K=1.38 x 10-2 J/K)

A) 3.7 x 107K B) 3.7 x 10°K

C) 3.7 x 103K D) 3.7 x 10°K

3. Aradioactive nucleus A with a half-life T decay
into a nucleus B at t = 0, there is no nucleus B.
At some time t, the ratio of the number of B to
that of A 1s 0.3. Then t is given by

A) t=TLog(1.3)

o
B) 1= 10g(13)

Tlog?2
log1.3

O)t=T

Tlog1.3

D) log 2 T
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NI SUET STV T 2.6T6M  6(H
WGEEH[H A FlenFHeUmLHS 2 e0&H5(0H B
2 (HAUMTHMI. t=0 ©)6V B 2 eIGHEH([H ©)6V60I6V.
t BITLSF6V 3|6V E5(H B LDMHMILD | 6505 & ([H
A &6 @emLCW 2 6Ter &SI 0.3 6reoflev
QEMTH&GHLILILL t 3L60TSI

A) t=TLog(1.3)

o
B) '~ Tog (1.3)

T'log?2
log1.3

Qt=T

Tlog1.3

D) g2

T

4. The energy equivalent of 0.5g of a substance
1s

A)4.5x10%)
B)1.5x10°J
C)0.5x10°]
D)4.5x10'%]
0.5 g QUTHEBE S FLOLDTET 3, MM6V
A) 4.5x 10"
B) 1.5x10%)
C)0.5x10%)

D) 4.5x10% )

5. The binding energy per nucleon of .Li’ and
,He* nuclei are 5.60 MeV and 7.06 Mev
respectively.

In the nuclear reaction ,Li’+ H' — 2 He* + Q.

The value of energy Q released is
A) 19.6 MeV

B) 2.4 MeV

C) 8.4 MeV

D) 17.3 MeV

L7 poih Het SIenisHS M6 @
Blwgeflwmegasmer  LleneoorliL] QLmmey
WemmMGWI 5.60 MeV LomMILD 7.06 MeV &,@&LD.
Li'+ H'— 2 He* +Q

QbHs 2| EVNEE ([ eflemeoruflev
Qaveflail_iL(®Wmd mme Q elledT LG
6T6O0T60T

A) 19.6 MeV
B) -2.4 MeV
C) 8.4 MeV

D) 17.3 MeV

6. The half-life of a radioactive nucleus is 50
days. The time interval (t-t) between the
time t,, when 2/3 of it has decayed and the
time t, when 1/3 of it had decayed is

A) 30 days
B) 60 days
C) 15 days
D) 50 days

@B &HILES TUHESEEmENOT  emiy
SQLU|L&MeVID 50 BTL&H6T QL@&GLD. 6T 2/3
UGS HFlengeuenl ujld &HMeuld t, LOMMID
25607 1/3 LGS FengeuenL WD SHmeuld t,
eTevt16v, GBI @ 6mLGleuer] (t,—t,) eTedTenr?

A) 30 BITL&6T
B) 60 [BITL_&6IT
Q) 15 BITL_&6IT

D) 50 BTL_&6T

7. The half-life of a radioactive isotope X is 50
years. It decays to another element Y which is
stable. The two elements X and Y were found
to be in the ratio of 1 : 15 in a sample of a
given rock. The age of the rock was estimated

to be
A) 150 years B) 100 years

C) 200 years D) 250 years
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@M &HflweEs 9CFmCLMUL X @6
T PUILEHMVD 50 UBLMGET. Q)&
BlemeUWITET  MAMTIH el Y 5
FensaumLBMmgl. Q&THSHELILL  LTemm
LrHFlullev @revor(h SHeofllnmIsG6T X WMHMILD
Y. 1:15 eteoTm NG EH L GHevor_MlulLILIL LS
6T6ot16L LIMemymUledT euul g

A) 150 6)(HL_MI8 6T B) 100 QU(HL_MBI&H 6T

Q) 200 6U(HL_MI& 6T D) 250 6 (HL_MI&H6IT

8.99% of a radioactive element will decay
between

A) 6 and 7 half lives
B) 7 and 8 half lives
C) 8 and 9 half-lives

D) 9 half lives

9% &HFlWEs Geoflinld  Fengamid
@ emnLQeuerl

A) 6 LDMHMILD 7 S6DT UL &ITEVLD
B) 7 LDMMILD 8 {6MT 3LU|L_&IT6VLD
Q) 8 LDMMILD 9 6T UL &TEVLD

D) 9 Q60T bU|L_&TeVLD

9. An infinite number of particles each of mass
3 kg are placed on the positive x — axis at 1
m2m,4m,8m, ........ from the origin. The
magnitude of the resultant gravitational force
on mass 3 kg kept at the origin is

A)4G B)12G

C)12/5G D)6G
6UGGUMTETMILD 3 kg [Bl60MUEITET 6T600T600T (DM
SIGATEHET GBIWenm X IJFRT WS
LjeTerflug e p b &l Tm, 2m, 4m, 8m.......
QsmameVallel  emaUSHSHLILIL (H6TeTer. o5
Lieierflufley emeuds sl L 3 kg BlemmuleTer
S156rfleor g Ry UL edleoy & ull6dT Q&5 M@ LI UL 6T
LG LILIT6OTS!.

A)4G B)12 G

012/5G D)6 G

10. During motion if a man from equator to pole
of earth, his weight will (neglect the effect of
change in the radius) (given Rw?=0.033ms?)

A) Decrease by 0.52%
B) Decrease by 0.34%
C) Increase by 0.52%

D) Increase by 0.34%

pOemT  USHUINEHS  eiluiler
SBASSIHEG @M ST GUIKIGSTS
HHD ML  eUeTEl 6Tl (TSHH6V
UG WMMHMEHMS LiM&E60018856)L0D
GLaILD Rw? = 0.033 ms?)

A) 0.52% GenmH Ml
B) 0.34% G MHMS!
Q) 0.52% 9B &F &R DI
D) 0.34% 915 &R M

11. Three masses each of mass m are placed at
the vertices of an equilateral triangle ABC of
side 1 as shown in figure. The force acting
on a mass 2m placed at the centroid O of the
triangle is

A) 112

B) 1/4

C)1/2

D)0
L Bem@peTer &FOUHS (N&HCSMeoord  ABC
R6TMIET  (LNEM6TSEl60. REUGAIMETMID m
5160y U 6TEIT BlemmM & 6T 6meus & LILIL (h eTermeoT
6Tl (NGHBHMTEOTHH 60T  emLDWILIL|6TerT]

O-aflev  emeudsLILIL(HeTer 2m  Blemymullesr
158 QFweL(GLD llens
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12. A body weighs 250 N on the surface of the
earth. How much will it weigh half way down
to the center of the earth.

A) 125N
B) 250 N

C) 150N

D) 175N

widluflest Gumurliilev 6@ QuUTEH6rleor
616ty 250N 660160 Li, LA U9 60T 600 LO WIS )60 (B IH !
LTS Qsmameuaillsd GG HeT  eTeml
6TEURUATAUMTS @) (H& S LD.

A) 125 N

B) 250 N

C) 150N

D) 175 N

13. The escape velocity of 10g body from the
earth is 11.2 kms™. Ignoring air resistance,
the escape velocity of 10 kg of the iron ball
from the earth will be

A) 0.56 kms™!
B) 0.0112 kms™!
C) 0.112 kms™!

D) 11.2 kms

Ldlufev 109 Qumnerflesr MIQIEICY
FemsFGausd 11.2kms!' QL&D  &STmleor
SO  LMEHNESELILLSHEHS 666l

LAuNeSl@®bg 10 kg @@L LGS eeormleor
aGLUb HensGausln

A) 0.56 kms™
B) 0.0112 kms™
0) 0.112 kms™

D) 11.2 kms™

14. Radius of earth is 6400 km and that of mars is
3200 km. Mass of mars is 0.1 that of earth’s
mass. Then the acceleration due to gravity on
mars is nearly.

A)2.5ms?

B) 5 ms™?

C) 1 ms?

D) 4 ms™
LuLBluN 60T =4, 7LD 6400 km DM MILD Q& 616U Ul 6oT
QLD 3200 km 91L&, QF6ueTuleT Bleom
widlulesr mlemmuiev 0.1 LOLMIG eT6ofley

QU BT&Hs S er Lall FILIL whH &I
JH&HSO DU

A) 2.5 ms
B) 5 ms=

C) 1ms=

D) 4 ms

15. The ratio of escape velocity at earth v_ to the
escape velocity at a planet v, whose radius
and mean density are twice as that of earth is

A)1:2
B)1:4

C)1:2V2

D)1:2
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L dluledr 9L MM FFmEfl 9L &5 60l
L 2 I0LTBI@ 2_em LW 6(H Gasmerfleb L, dluflev
lGUB HengGeaushd v, MM G&merfledr
AQub HosCusld v-5& @eLGW
2 66T H56)

A)1:2

B)1:4

Q) 1:242

D)1:42

CHEMISTRY Q.No. 16 to 30

16. An increase in equivalent conductance of a
strong electrolyte with dilution is mainly due
to

A) increase in dilution is mainly due to

B) 100% ionisation of electrolyte at normal
dilution

C) Increase in both (ie) number of ions and
mobility of ions

D) Increase in number of ions

BI&s56e560 e auedlenin L& LdleoT LI erflusl eor
FLOMT  &SLESHmeT ARSFIILUSHGS
(P&HH W SIT6oTLD

A) SjwienflEHerfler BEHEIH6L UH&FILILG

B) &g myeoor HI&E56060  LledTLIG6rfludledr
100% SjWeof WML

Q) 9jwenflserfledr  eTevoTevoil&HemE  DMHMILD

3| Wieofl &6 55756V @ yevor(H)LD
Y=y MW
D) &|wevfl&serfleor 6T600T 6001 1 &5 600 &

S &lLg

17. Resistance of 0.2 m solution of an electrolyte
50Q. The specific conductance of the
solution is 1.4 S m™'. The resistance of 0.5 m
Solution of the same electrolyte is 280€2. The
molar conductivity of 0.5 m solution of the
electrolyte in S m? mol™' is

A)5 x 102

B) 5 x 10

C)5x10°3

D)5 x 10°
02 m GQ&mleyeter WeTUG6T HeMIEFey
eeTMl6e0r L6TEH6mL 500 QLG LD. &H6enTFedleor
BIWNESELSSIHmeT 14 Sm' @&, 05 I
Qaplajeter Cs WleTUG6T &6 ggedleor
LeoTE6em L 2800. 0.5 m LAl 6dT LI 611 & 607 & 69l 60T
Gmeunmy HL&SISH M6 Sm2 mol™ 60

A)5 % 102

B)5x 10+

0)5x 1073

D)5 % 10°

18. The variation of molar conductivity with
concentration of an electrolyte (x) in aqueous
solution is shown in the given figure. The
electrolyte X is

Molar
Conductivity
Ve
A) Hcl B) Nacl
C)KNO, D) CH,COOH
Q&TH&SHLILIL(h6TerT UL &560

15178 & 60 7&F 6016V Ll 66T LI & 611 (%) 63T Q & M) 62 &5 (& LD
GLMeVTH &L&SIH M8 G LD @) 60y CUlU6ITerT
roiur@® srlLiul(GeTensl. WleorLiger] x
6TEOT LIS

&L58! Blmeir

Ve
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A) Hcl B) Nacl

OKNO, D) CH,COOH

19. The correct representation of the Nernst
equation

0.0591

A) Emn+/m = EOmn+/m + log[mﬂ+]

0.0591 nt
nlog[m™]

B) Emn+/m = Eomrﬁr/m -
n nt
C) Emn+/m = Emn+/m + mlog[m ]

D) Emn+/m = Eomn+/m + ﬁlog[m‘ﬁ]

QBIeTeVL.  FLOETUTL ML LweT LB &S
Fflwmer samenm CHTHASH:

0.0591

A) Emn+/m = E01nn+/m + Tlog[mn+]
B) Emn+/m = Eomrﬁr/m - %log[mlﬁ]

n n+
C) Emn+/m - Emn+/m + mlog[m ]

D) Emen = B’ + 0397 loglm" ]
20. Which of the following chemical reactions
depicts the oxidising behaviour of H,SO,?
A)2HI+H, SO, — L+SO, + H O
B) Ca(OH), + H,SO, — CaSO, +2H,0
C) Nacl + H,SO, — NaHSO, + Hcl
D) 2Pcl, + H,SO, — 2Pocl, + 2Hcl +SO,Cl,

L&l allemerdsertley 6Thg ellement 6o
3,501 GeTHMILD LictoTem L& GMl&HmS!

A)2HI+H, SO, — L+SO,+H0O
B) Ca(OH), + H,SO, — CaSO, +2H,0
C) Nacl + H,SO, — NaHSO, + Hcl

D) 2Pcl, + H,SO, — 2Pocl, + 2Hcl +SO,Cl,

21. Time required to deposit 1 millimole of
aluminium metal by the passage of 9.65
amperes of current through aqueous solution
of aluminium ion is

A) 308
B) 10S
C) 30,000 S

D) 10,0008

gadleflwd  wesflHemerd Q8 mevorL
Bi&&engsedev 9.65 QL wry
6B L GH6m& QEFaEHSH 1 Ll6Led GLomey
Savdleflwid 2 Coumsims LIGWE Q& U
GxemeUulmeoT GBIFLD

A) 30S

B) 10S

C) 30,000 S

D) 10,000S

22. The limiting molar conductivities A° for
Nacl, KBr and Kcl are 126, 152 and 150 S
cm’mol ™’ respectively The A° for NaBr is

A) 278 S cm? mal™!
B) 178 S cm? mal™
C) 128 S cm? mal™!

D) 306 S cm? mal!

NaCl, KBr nmmith KCl 91,8 wieumnledr GLomeuTy
HLESFHMeTHT PemmGul 126,152 LoMMILD
150 S cm? mol™ 9L,&LD. NaBr 60T eUIFLDL| [Blemey
Gmeuny &L&SIHmeneor &evor(HLINL..

A) 278 S cm? mal™’

B) 178 S cm? mal™

C) 128 S cm? mal™

D) 306 S cm? mal™
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23.Given (Bt i, == 0.72V, Epejr =— 0.42V),
The Potential for the cell 1s

Cr|Cr**(0.1m)||Fe**(0.01m)|Fe is
A)-0.26V

B) 0.399 V

C)-0.339V

D)0.26V

QaTH&&SULL (D eTerT LO) 60T &5 6V & &) 60T
L 60T 60T (LD & & & 60) & 8> 856007 5 (h) 5.
Cr|Cr3*(0.1m)||Fe2*(0.01m)|Fe is

(ng/m =—0.72V, B} jpe =— ().42V)

A) -0.26 V
B) 0.399 V
C)-0.339V

D) 0.26 V

24. The correct IUPAC name of the following
compound is

A) 2-methyl-5-nitro-1-chlorobenzene
B) 3-chloro-1-methyl-1-nitrobenene
C) 2-chloro-1-methyl-4-nitrobenzene

D) 5-chloro-4-methyl-1-nitrobenzene

Gp&seol. SFnFCFIInGH 6T &iflwimeor
IUPAC Quiwry

A) 2-QEH V) -5-amBLCIT —1-&GCeTm G
QLI 60T & 60T

B) 3-@GemmCr M —1-Q&H 6L —1-emBL BT
QLI 60T & 60T

Q) 2-&CeTmCrM-1-Q0 & H 6v-4-emnBL G IT
@\ LI 60T & 60T

D) 5-&CemmEIM-4-Q 0 & H ev—1-6m B L GJIT
G\ LI 60T & 60T

25. The number of stereoisomers obtained by?
A)l B)2
05 D)6
g ymesreny —2-LNw,lIcemeor LGTMLAIGeTmHMLD
QWb GCums HoLESGWL LmGeler
LT w185 6rfl 60T 6T600T 60018560085
A) 1 B) 2

Q5 D)6

26. The number of isomers for the compound
with molecular formula C BrCIFI is

A)3 B) 4

O)5 D)6
C,BrCIFI epevd&nmi eumuiiiiLim® G &meoorL
GFL0S H avl6iTerT Lo ndl ul 161 & erfl 60T
6T600T 6001 | 5560 55

A)3 B) 4

05 D)6

27. Which of the following compounds will
exhibit geometrical isomerism?

A) 1-phenyl-2-butene
B) 3-phenyl-1-butene
C) 2-phenyl-1-butene
D) 1, 1-dipheyl-1-propene

BL&H&HETL  GFjmGefley 65 allgel

LTHMWESens QedeflliL{® &S0
A) 1-19.6m60T60-2-LIN W, LI 60T
B) 3-Lilemeorev—1-LI Wy, L IeedT
Q) 2-L9emeor6v—1-L91W, L L 60T

D) 1,1-emL LTemeor6L—1-L Gy LIL 60T
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28. Which of the following will have least

hindered rotation about carbon — carbon
bond?

A) Ethane

B) Ethylene

C) Acetylene

D) Hexachloroethane

STTLGT-STTL6T Nemeoorlienll QUTMISS
aemyuiley  HPESHEITL (TFCFILSHI
&rLD6V6U G D & 60T ol GODHSI
SmeoTLILG&S MmSI?

A) iF &G & 60T

B) 6758516060t

Q) AP 1965607

D) Qam&FmT&GCemmErT i & G5 60T

29. The compound which is not isomeric with
dicathlether is

A) n-propyl methyl ether
B) butan-1-ol
C) 2-methyl propan-2-ol

D) butanone

ML  d5H60  FHGLET  WLTHPLSMS
QeueflIUM&STEH GFFLOLD 6T5I1?

A) n-LGrmLliemLIeL QEGH 6V &I
B) LNW,L_L_63T —1-3L,605Hammev
Q) 2-QI&H6V L|GTTLILIGT-2-31,60

D) LYw,L"L_GeormedT

30.25g of an unknown hydrocarbon upon
burning produces 88g of CO, and 9g of H,O
This unknown hydrocarbon contains

A) 20g of carbon and 5g of hydrogen

B) 22g of carbon and 3g of hydrogen

C) 24g of carbon and 1g of hydrogen

D) 18g of carbon and 7g of hydrogen

25 SImD emaml GrmamyuUemer 6flé @D
Gumal 88 & WwmHmih OC, MM 9% H,0
SHHMG. eTevilev 96 AL GI&HT L6160
2 aTergl :
A) 20 &) &MTFLET LDMHMID 5 & emamL[Feg36or
B) 22 &) &ITFLIGT LDMMILD 3 &) e L [7e260T
Q) 24 &) &THL6T InMHMILD 1 & emamL_[Je60r

D) 18 &) &MFLIET LoMHMmID 7 &) 6L [Jeg360T

MATHS Q.No. 31 to 45

31. A(a,0) and B (-a,0) are two fixed points of
AABC. If its vertex C moves in such a way
that tanA + tan B = A, where A is constant,
then the locus of the point C is

A)yAr=2a
B)yya=2%\
C) A x2 + 2ay = A a?
D) Ay>+2ax =L a’

AABC uflév Aa, 0) mmih B(-a, 0) eredrLIeor
BlemeuLiL|emerflgeT. 2 &L eTerfl C Wimeorg!
tan A + tan B = A (A ommled) etedTmeumm
@ UWMRI@GLOMmeoTTev, C USl6dT @) UlMbI@G6UemT

A)yA=2a

B) ya=22

C)Ax? + 2ay = A a2

D)Ay? + 2ax = A a2
32. A line which passes through point A(2, 3)
and makes an angle of 45° with x — axis. If

this line meet the line x + y =—1 at a point P
then distance AP is
A) 243 B) 312

C) 5\2 D) 2V5
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@@ GComLmerad A2, 3) eredrm  LjeTerl
QUINULIMHED X S|FFL60T 45° G&TevoTd H eyl
2 6TeMgl. Q&CHTLMTETE x + y = =1 6T60TM
GaMLlemL P eteorm Lemerflulley FhH &SR M
6Teotl6L AP UlledT LOGLIL

A) 273 B) 312

C) 5\2 D) 25

33. A line L passes through the points (1,1)
and (0,2) and another line M which is
perpendicular to L passes through the point
(0, —1/2). The area of the triangle formed by
these lines with y — axis is

A) 25/8 B) 25/16

C) 25/4 D) 25/32
L eteorm G&HMMH (1, 1) wmmih (0, 2) eTedrm
LieiTerfl&s 6T auLfl G Q& 6L B MG1. M 6TedTm G ()
(0,-1/2) etetrn Leimerfl eudlMsayLd, L 6T6dTm
CHMLIY MG QFHIGHSTHAD 2 6Tengl. L, M
6Te0TM G&HM(H&HET LOMMILD y — SIFF eLOEOTMILD
2 (HOUMEHGLD (NE&CSETE00rsS S 60T LITLIL]

A) 25/8 B) 25/16

Q) 25/4 D) 25/32

34. Let P and Q be any two points on the lines
represented by 2x — 3y = 0 and 2x + 3y = 0
respectively. If the area of the triangle OPQ
(o-origin) is 5 units, then the equation of
locus of midpoint of PQ is

A)2x*-3y*+£15=0
B)2x*+3y*+£15=0
C)4x*—9y*+£30=0
D) 4x?>+9y*+30=0

P Q eT60TLI60T (LN6mMEGW 2x — 3y = 0 LDMMILD 2x
+ 3y = 0 er60r CHMMHG6TlET L% emIOU]LD
LieiTerfl& 6T 6TedTd. AOPQ-60T LIFLIL] (0-2L5) 5
VG GEH6T 6T6euflev PQ-60T emyLOWILIL]6iTerflueor
@ WM& 6UenT

A)2xX—3y? £ 15 =0

B) 2x® + 3y?+ 15 =10

C)4x2-9y?+30=0

D) 4x2 + 9y? +30 = 0

35. If in triangle ABC, A = (1, 10), circumcentre

= <—%,%) and orthocentre = <%,%> then

the co-ordinates of mid-point of side opposite
to Ais

A) (1,-11/3)

B) (1, 5)

) (1,-3)

D) (1, 6)
AABC - Wlev o &8yetell A = (1, 10)
&FMHM QL L emOOWID = (-%%) LOMHMILD
QERIGCHTL(H eMOWILD = <%,% eTeofl6v A-60T
TR TLESHST 601 B(H LIL|6iTerf]

A) (1, -11/3)
B) (1, 5)
QO (1, =-3)

D) (1, 6)

36. If the distance of any point (x,y) from origin
is defined as d (x,y) = |x| + |y|, then the locus
ofd(x,y)=1isa

A) circle of area  sq. unit
B) square of area 1 sq. unit
C) square of area 2 sq. unit

D) none of the above

AHWONGBHE (X, y) eerm  LeTefl&E
etem IO d (x, y) =[x|+]y] ereor
QI TWMIGHLILOQS M ereoflev (x, y) = 1 60T
@\ WM& 6U6em.

A) UTUY T &FSIT 96V 260 W aIL_L LD

B) LFLIL 1 &F&IT 6V 260 6(H FSITLD
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Q UIUL 2 F8IT 36V& 260U (h FSITLD
D) @eummlev 6TgialD @)6Vem6y
37. The distance between the Circumcentre and

orthocentre of the triangle whose vertices are
(0, 0), (6, 8) and (4, —3) is

A) 125/8 unit

B) V5/2 unit

C) 5V5/2 unit

D) 5V5 unit

0,0), (6,8 WwMMID (4, -3)
2 FHALI L|eTerfl&ermas @\ &5 T600T L
WECHTEOTEHFHT  FHMIQILL 60D
LOHMID QFBICHTL(H MWL @aumminG
@eLLILLL Q& Teme6va

AHWeImenm

A) 125/8 96V&
B) V5/2 9160
Q) 5V5/2 oo

D) 5vV5 ©iv&

38. A ray of light coming along the line
3x+4y—5=0 gets reflected from the line

axtby—1=0 and goes along the line
5x—2y—10=0, then
A)a= %, b= %
B)a=Ttab="10
C)a={5b=11>
D)a=Tigb=11

RMm afeHEEHT  3x+4y-5=0 66T

GammLlger euPflGW  eubdl ax+by-1=0
eTedTm GCo&MLIgermey TR QMG LIILL (R
5x—2y-10=0 ereorm G&HMTLIqeT UG
QEFLIRMS 6T6vf 16V

_ 64 ,_ 112
A)a=115:b=T5
64, 8
B)a=71750=115

O a=115:0= 115
64, -8
D)a=1750=11

39. Ifthe line y = V3x cuts the curve x* + y* + 3xy
+ 5x? + 3y? + 4x + Sy — 1 = 0 at the points A,
B, C then OA. OB. OC is

A) £3v3-1)

B) 3V3+1

y=\3x 6760TM B[ X¢ + y* + 3xy + 5x% + 3y2 + 4x
+ 5y — 1= 0 6T60TM GUemETaUEmTemnW A, B, C-ull6v
Qaul_(h&BmE! erevflev 0A. 0B. 0C 60T DG LIL

A) A(3/3=1)

B) 3V3+1
Q) %+7
D) %*%

40. The co-ordinates of the point P on the line
2x+3y+1=0. Such that |PA—PB| is maximum,
where A is (2, 0) and B is (0,2) is

A) (5,-3)

B) (7,-5)

©) O, -7

D) (11,-9)
A2, 0) wwmmID B (0, 2) ereTLIET @)\
LjeTerflaseT. P etedrm Ljeimerflulledt opul &858
FnMIGH6T 2x+3y+1=0 ereorm G&HITL Q60T
153 SemEMmS. Cald |PA-PB| ereTLIS!

BSUQUm WwHemL e wjnmm P - ulleor
For M1 61T
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A) (5, -3)
B) (7, -5)
Q) (9, -7)

D) (11, -9)

41. The graph of the function y = cos x cos (x+2) —
cos? (x+2) is

A) a straight line passing through (0, sin’1) with
slope 2

B) a straight line passing through (0, 0)
C) a parabola with vertex (1, —sin’1)

D) a straight line passing through the points
(%7 —sin” 1> and parallel to the x-axis

y = COS X €OS (x+2) — cos? (x+2) - eTedrm  &riyLileor
66D [JLILLOTEOTS!

A) Fmlle] 2 2. emLW (0, sin21) eTedTm L|6Ter]
aNlE QFevad GBHIECSHT(

B) (0, 0) uBIGW QF eI CHTE GBS M(h)
Q) (emeoT (1, —sin21) 2_6mL I LITEUEM6TUILD

D) x—3|F&F M & @) 66007 WL TE6LD (% — sin21)

6T60T M Ll6Terfl euLSluImas 6| Q& euavild e (H
3310

42. The incentre of the triangle with vertices
(1, V3), (0, 0) and (2, 0) is

A) (1, 3\2)

o (i)

11

(1,43), (0,0) WO (2, 0) etedTm 2 FHLI
LeTerfleemend Q&smeoorl (L& C8smeuors; S 60T
o 6TaUL_L 6mLOWILD

|
)

)

43.Let P = (-1, 0), Q = (0, 0) and R = (3, 313)
be three points. Then the equation of the
bisector of the angle ZPQR is

/3

2 Xty 0

A) (1, 3V2)
B) (%
o

m(L

W

b o

Y

A)
B) x+m\3y=0

C) 3x+y=0

Dy x+()y=0

6T60T LI 60T
2PQR -60T

P=(-1,0),Q=(0,0)R =(3, 3V3)
3 L|erTerf1 & 6iT 6T6vfl6v
@ HFLG6UL Ul 6T &FLesTUm(H

J3

A) 5 Xxty= 0
B) x+m\3y=0
C) V3x+y=0

/3

D) x+<2)y=0

44, 1f the lines x+ay+a=0, bx+y+b=0 and

cxtcy+1=0 (a, b, c¢ being distinct#l)
are concurrent, then the value of
ATty i

A) -1 B) 0

O)1 D) none of these
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x+ay+a=0, bx+y+b=0  wMMID  cx+cy+1=0
(a, b, c QeueUGeUMTETEME LOMMILD #1) 6T60TM
CaHM(H&H6T spLeTer] aulll QEeuan 6Teoflev

a b c

Tt poT T oo O LSuY
A) -1 B) 0
Q)1 D) @eumnlev

616D ) 6L6M6

45. The area enclosed by the line bx+cy=a (where
a, b, c are the same sign) with coordinate axes
is 1/8 unit?

A) b, a, carein G.P
B) b, 2a, ¢ are in G.P
C)b,a/2,carein A.P

D) b, —2a/3, ¢ are in G.P

bx + cy = a (@M@ a, b, c 6T6OTLIGT 62(H
Glemwl QUMMENE) 6T6oTm  CSTL TSI
bW 9| & &+ & @15 L_60T gHUBSHSILD
(P& CEHITeoTSH60T LITLIL] 1/8 1602 6Tevtl6v

A)b, a c ereTLET QUBHEHEGS QSMLIflev
IlemLOU]LD.

B) b, 2a, ¢ eTeOTLIEN QUIBHGSGS QSTLIfl6L
SlemLOU]LD.

Q) b, a/2, ¢ ereoTLIeT Fnl (NS QFTLIfl6v
LUl

D) b, —2a/3, c 6TeTLI6OT QLIS GS QS TLflev
SlemLOU]LD

12
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